HAESHX I
R ERERE (E) oot
( 202518 #@stoH@EAE )

TEORY ARAEEREEMEBMOEHL £,

[REIEAZEEM © 6.39 F/m3 [ ]

WEAME 202511
LD
BRUmSE TR ¢ 2024588  ~ 20244108
bzl BRI 92,380 A/t [#iik])
(b Y7 EHMEEFEDOFHIRE £ BLNG - LPGEAKE S L U AM1E)
EAEFYEEMEE (M) 85,350
LNG(MH) LPG(H)
2024488 ~ 20244108 15 92,100 90,220

b By REMEEOEE

(FHER#]
b2 H72 Y LNGF Mg X 0.9423 + b > H7- Y LPGEH@E x 0.0620
= 92,100 FM/tx0.9423 + 90,220 FA/tx0.0620

= 92,380 A/t (1DOMI&MEEAN)

FRMBE ZBEOEE

(FrERM)
b > H7c Y MRS — R AT RS
= 92380 M/t - 85350 M/t = 7,030 M/t

= 7,000 A/t (100K EHTIHE)

FRREREHMmM3H 7 ) AR OEE !

(FHERH#L]
[REMEISZEBIZE + 100 x 0.0913
= 7,000 F/t+100%x0.0913= 6.39 H/m3

HEMRIA (0.083x1.1)
(N REB3IML &Y HE7T)

REXZHEMOETE @ FAERHK

Xt



